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CrosswordFor Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

You deal and open One Club. Partner raises to Two
Clubs. What would you bid now with each of the
following four hands?

1. [S] AJ73 [H] K95 [D] AQ [C] 10853
2. [S] KQ9 [H] AQ [D] A107 [C] KJ832
3. [S] AJ6 [H] 10 [D] K95 [C] AQ9652
4. [S] AQJ [H] KQ8 [D] A [C] KJ7643

 * * *
1. Pass. Partner’s two-club response, indicating

six to 10 points, makes it clear that there is no game.
There is consequently no point in bidding two
notrump, which would be construed by partner as a
game try showing upward of 16 points. Partner has
furthermore denied possession of four spades, so
there is no point in bidding that suit. The only logi-
cal choice is to pass and settle for a partscore in clubs.
To bid again would express game aspirations that
are not justified.

2. Three notrump. With a balanced hand, every
suit stopped and at least 26 points in the combined
hands, three notrump is the standout choice. It would
be wrong to bid only two notrump, which partner
might pass. At the same time, a slam is out of the
question once partner has limited his hand to six to
10 points with his two-club response.

3. Three clubs. Although you have only 14 high-
card points facing six to 10, the possibility of game
should not be dismissed. After partner’s raise, you
should re-evaluate your hand on the basis of play-
ing tricks, rather than points, for both notrump and
suit purposes. It is certainly not difficult to see your
hand contributing seven or eight tricks toward a
notrump game.

In effect, three clubs tells partner game is possible
if he has better than minimum values for his raise.
Partner will pass three clubs more often than not, but
rarely will anything be lost by trying for game.

4. Four notrump. A slam is decidedly possible, and
the key to whether it can be made lies in the number
of aces partner has. This is a classic case for
Blackwood.

You plan to pass a five-club response indicating
no aces, and to bid six clubs if partner bids five dia-
monds (one ace). Opposite one ace, the slam might
be laydown or depend on a finesse. If partner bids
five hearts, showing two aces, six clubs is virtually
assured, but you will not venture any further, since
partner cannot also have the king of spades for his
two-club bid.

Basic
Card-Reading

Most declarers find it difficult to look 10 or more
tricks ahead — even though in some deals it is rela-
tively easy to do.

For example, take this case where South got to six
notrump and West led a diamond. (Had West cho-
sen a heart or club lead, he would have presented
South with his 12th trick then and there.)

Declarer won the diamond with dummy’s king
and played a club to the ace at trick two, on which
East showed out.

This totally unexpected development enabled
South to project with certainty that he would make
the contract.

True, he had to look far, far ahead to make this
projection, but South realized he had West in a bind
from which there was no escape.

Declarer first cashed the ace of diamonds and A-
K-Q of spades, learning in the process that West had
started with no spades, two diamonds and six clubs,
which in turn meant he had precisely five hearts.
South then cashed three more diamonds, producing
this four-card position:

North  [H]  6 2  [C]  7 4
West    [H]  A   [C]  J 9 6
East    Immaterial
South  [H] K  [C]  K Q 10

South now led the king of hearts to West’s ace,
forcing him to return a club into the K-Q-10.

In a sense, South was lucky he chose to bid six
notrump rather than six diamonds, which would
have gone down four after a normal club lead by
West, followed by normal defense.

Sally Forth • Greg Howard


